
' 

NABARD 

PY - 2016 

. 

.

(Maximum Marks-100) 

[ Duration : 3 Hours ] 
..

• 

ECONOMIC AND SOCIAL ISSUES 

Instructions.- (1) Answer any five questions. 

(2) All questions carry equal marks .

(3) Answers may be written either in English or in Hindi

at the candidates option. However, all the questions

should be answered only in the language so chosen.

Answer"books written partly in English and· partly
•

in Hindi will not· be evaluated.

( 4) Part of the same question must be answered together

without answers to other questions intervening.

(5) Answers to each question must be started on a fresh

page.

(6) Marks will be deducted, if handwriting is not easily

legible.

(7) Answers will be judged on the basis of perspective,

analysis and presentation.

1. (a) How poverty line is defined ?

(b) ·critically evaluate the strategies adopted by the Government of India

for poverty alleviation.

2. (a) Describe the important features of India's population policy since

1981. 

(b) What are the achievements. and limitations of population policy ?

3. (a) What are the problems related to agricultural finance ?

(b) Give critical appraisal of rural banking in India.

4. (a) Explain the features of labour market with respect to agriculture,

industry and tertiary sector labour markets. 

(b) Explain various schemes introduced by the Go.vernment to re·move

unemployment. 

5. (a) Explain the challenges and opportunities in the banking sector after

globalisation. 

(b) ' Reforms in India have made the financial sector vibrant, diversified

and competitive'. Do you agree ? Discuss. 

6. Analyse the effects of rapid urbanisation in India. How can bad effects

be removed? 
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7. (a) 'Human activities result in significant environmental chan,ges '.

Do you. agree ? Explain. 

(b) What are the policy measures undertaken by the Government to

achieve sustainable development ? 

8. What are the weaknesses of India.'s higher education system ? Wh,at

changes are needed in this system ? 

9. (a) 'Inclusiveness is multi-dimensional concept' Discuss.

(b) Explain the measures und. rtaken by the Government for economic

advancement of SC, ST and empowering tribal an.d marginalised 

groups. 

10. Write notes on any two of the following :-

(a) Role of economic planning in th.e context of liberalisation.

(b) Coalition government an obstacle to economic p1rogress of our country.

(c) Sign.ificance of Secularis.m for India.

(d) Regiona economic integration and India .
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�I\¾ cfi a'ftt � fqtf-.i1 cfi � 

�¥:11 : (1) fcfi�l � ��;:n � d'ct{ � I 

(2) � ��.:n � 3lcf> �'q{.:f t I

(3) m� 3tq..ft �-i:t§l-j�I{ ��.,)ft{ � �u;:,ft 1:JT � 1l � 'f{cfi� t I
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(6) �«t<-'l@ (Handwriting) 311�1-.fl· ·� � mn:r ..,.tff � � 3lcfi' 'cfill'
m s>114'r ,

(7) � � '!f4icfi-1 3.-tcfil c;:fteat (Perspective), ·fq�(vjt5101 (Analysis) �
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